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CH-2=0 5% — 51x2 + 144x — 108 = 0

X+ x> +36x+36=0 X +3¢ —28x=0

X =5 —8x+48=0 X3 +2x=0

¥ =32 -18x=0 X =2 = Thx+ 144 =0

X+ —56x=0 5% + 76x% +251x— 252 = 0

www.snowmath.com


https://www.snowmath.com

LIS

K =k HA T

4

C+P—2x=0
x=-2,1,0

X+ 11x> +36x+36=0
x=-3,-2,-6

X =57 —8x+48 =0
x=4,-3,4

X =3¢ —18x=0
x=6,-3,0

X4+ —56x=0
x=-8,7,0

H #A:

5% — 51x% + 144x— 108 = 0
6
5’

x:

6,3

X +3¢° —28x =0
x=4,-7,0

©+3¢+2x=0
x=-1,-2,0

X =¥ —T4x+ 144=0
x=28,-9,2

5¢° + 76x% +251x— 252 =0

x:

, 79,77
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